41 Perimeter Center East, Suite 250
D unwo 0 Dunwoody, Georgia 30346
P (678) 382-6700 F (678) 382-6701

Smart people - Smart city dunwoodyga.gov

MEMORANDUM
To: Mayor and City Council
From: Carl Carver, P.E., Stormwater Utility Manager
Date: 2/13/2012
Subject: Discussion of Standby Contractors for Stormwater Repairs

ITEM DESCRIPTION

Discussion of Standby Contractor for Stormwater Repairs/Re-placement Projects.

BACKGROUND

The Public Works Department issued a Request for Proposals (RFP-12-30) for the purpose of
selecting two general utility contractors and one pipe lining contractor for stormwater pipe
replacement and repair on an as needed basis. Prequalifying contractors at competitively
bid prices will allow quicker response and reduce administrative time when major pipes
repairs and replacement projects arise.

The City received a total of thirteen proposals. All proposals were evaluated based on the
following criteria: 60% Cost and 40% experience, references, personnel, equipment, and
understanding of the scope of work. Proposal evaluations were done by two Public Works’
staff members and the City Engineer. A summary of the proposal scoring and a tabulation of
the unit prices are attached.

RECOMMENDED ACTION

Staff respectfully requests Council’s approval of the recommendation to contract with the
following contractors for standby stormwater repair and replacement construction projects.

General Utility Contractors

1. Georgia Development Corporation
2. Southern Premier Contracting, Inc.

Pipe Lining Contractor

1. Inland Waters Pollution Control, Inc.
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Stormwater Standby Contractors

Individual Ratings

Firm MS RE CC Total

Lining Contractors

IWPC 21.2 21.2 22 64
Reynolds 21 20.6 214 63
General Utility Contractors

Blount 20.2 18.2 20.2 59
The Dickerson Group 16.2 16.2 13.8 46
Georgia Development 20.6 20.6 214 63
Site Engineering Inc. 18.4 18.8 19.6 57
Southern Premier 20.6 20.6 20.6 62
JJE Constructors, Inc. 17.6 17.6 18.4 54
Civil Works, Inc. 19 17.4 18.6 55
Road WorX 16.4 18 10.4 45
K. M. Davis Cont 12.2 8.6 12.6 33
Unlimited Property 20.2 17 16.6 54
Gary's Grading 14.6 14.6 17.4 47
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